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Achievement with Merit

Achievement with Excellence

Demonstrate understanding of a variety
of extended spoken French texis.

Demonstrate clear understanding of
a variety of extended spoken French

texts.

Demanstrate thorough understanding
of a variety of extended spoken French
texis.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the

top of this page.

Listen to TWO passages. You will hear EACH passage THREE times:

The first time, you will hear the passage as a whole.
. The second and third times, you will hear the passage in sections, with a pause after each.
. As you listen, you may make notes in the LISTENING NOTES boxes provided.
. Before each passage begins, you will have 30 seconds per question to preview the questions.
At the end of each passage, you will have a few minutes to review your answers.

You should attempt ALL the questions in this booklet.

Answer each question in your choice of English, te reo Maori, and/or French.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2—11 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.
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QUESTION ONE
Use Section & and Section B to answer this part of the queston.
fa)  Décrivez ce qu'ttall la carridre de Wellinglon.
Describe what the Wellington quarry was.
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(by  Quelle &tait Vimportance stratégicue de [z carnére de Wellington pour les forces alliges
durant la Premigre Guerrs Mondiale
How was the Wellington cuarry strategically imporiant to the Allicd forces during World War

One?
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FIRST PASSAGE continued

Glossed vocabulary
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QUESTION TWO
Use Section D 1o answer this parl of the question.

@} Expliguez comment el pourquoi la carrigre o &té modifise.
Explain how and why the quarry was modified,
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Use Section E to answer this parl of the guestion.

(b} Loffensive du 8 avrit 1917 était-elle un succds ou un échec ? Juslifiez votre réponse.
Was the offensive launched on 8 Aprl 1917 a success or a failure? Justify your answer.
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Use Seclion F (o answer his parl of the question.

(c)  Decrivez ce qu'est devenus la carriére aujourd'hui el ce qu'elle représente.
Describe what the quarry has becomo today and its conlinuing significance.
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SECOND PASSAGE continued

Glossed vocabulary
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QUESTION FOUR
=

Use Section C and Section D to answer this part of the question.

(=) Expliquez le statut de la langue francaise dans le systéme éducstif marocain,
Explain !he ;mpcmancb of ﬁ:g Fr éfmﬁ* x’ma.sagf in the Moroccan educstion systam.
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g
Use Section E and Section £ o answer this part of the quastion.
()} Expliquez les inquictudes du roi du Marce par rapport aux problémes rencontrés dans le
secleur de I'éducston. De quelie manidre est-ce que ces accords prennent en compio fes
inguidludes dy roi 7

Explaini the Moroccan King's CQNTEMS about the problems facing the education sector in
Morocco. To what exient do the agroements address the King's concermns?
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Achieved:
Q 1: There is some lexical information which is largely correct but lacks supporting details.

Q 2: The candidate has understood the general meaning of the text but has misunderstood
some of the details. This would have been an A4 answer if the candidate had written 'to
accommodate 700 wounded’ rather than ‘save 700 injuries’ for example.

Q 3: The information given is largely correct but the final part of the response lacks valid
details.

Q 4: The information given is largely correct but the candidate has misunderstood or left
out some of the details required for Merit e.g. the Arabic language & culture will be
developed in French junior and senior high schools.



